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If f(x)=Ine* ,
then f'(x)=

o
—a = (il i)




If f(x)=tanx ,then







If f(2x)=x*+x ,then

OB et T = (0eY)s 13




If the curve of the function f
has an infliction pointat x=1
where f(x) = x3+kx?>+4
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fx+2 d _
x+1 Iake

1+In(x+1)+c
S H( Vo) L8 D

X=In|x+1|+c
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X+In(x+1)+c
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If £ is a continuous function on
R,where f:f (x)dx =3,
[ f (x)dx =4 ,then

f;f(x)dx:




T
J§ sec? x tanx dx =




If y=n®, z=n’ ,thenthe
rate of change of y relative to z at
n =1 equals
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The minimum value for the
expression x°—3x+5 when
X €[0,2] is

Cun 0+ (¥ = Tl okl ad jraal |







. | Find the value of each of :

(a);—x(logxz—cotZX)

(b) [ (X +e™+2)dx




A ladder rests by its lower end on a ua) e il 4dphy olu 385
horizontal ground and with its upper | b Bila o (g skl iy 5 2
end on a vertical wall. If the lower - o
end slides away of the wall at a rate 0o haatipe Gl 3kt 3154 1)
of 30 cm/sec , find the rate of the Jaza 22l Erfan¥ s Jaray Tailal)

sliding of the upper end when the . ) . .
measure of the angle between the | O*¥ O Leie gslell iR GY 5

TT <
ladder and the ground equals % < oaudls aludl G 4y 6 30




If the perimeter of a circular sector
equals 12 cm. find the measure of
the angle of the circular sector which
makes the area of the circular sector
be maximum.
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Find f04| 2x — 4 |dx




Draw the general diagram for the
curve of the continuous function f
which satisfies the following
properties

* f(=3)=8, f(0)=4, f3)=0
*f\(x)>0, at|x|>3

* f\(x) <0, atx <0,

fNx)>0 atx> 0
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Find the volume of the solid resulted
from the revolution of the region

bounded by the two curves y=

, Y=5—-x  acomplete revolutio
about the X-axis.
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Find the area under the curve of the
function £ where f(x) = x> — 3x + 3 Y‘+U‘“Y‘_vu“=(w)d&";d
and enclosed between the two straight )
lines x=0, x=2




Ladl o (o ganll dae S 1Y)
If the slope of the normal to the d ” N

tangent of the curve of the function f | . s \ 58 Al s
. . ¥
is 3_;2 then find the local »Y-¥

maximum and the local minimum sl 5 paally alaall ol
values for the curve of the function

. ~ . -, - PO
f, and the infliction points if they O P iy 3 A i
exists. given that the curve passes
through the point (-2 ,-1)
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